
1 

Thank you for purchasing Happy Trails products.  Our products are proudly hand  made in Boise Idaho, 
USA.  If you have any questions or concerns about the installation of this product, please contact us di-

rectly at 1-800-444-8770 or e-mail installation@happy-trail.com. 

Step 1 
Remove the rear seat bolts, remove the rear turn 
signals. 

Step 2 
Place the rack on the bike, place the 1” spac-
ers between the front mount and the seat 
mount and secure the rack using the provided 
M8x40 bolts and 5/16 fender washers.  

Step 3 
Attach the rear rack mounts (where the turn 
signals were mounted).  

Yamaha xt225 tube tail rack    htp9-1-6B 

Bolt List 

(2) 1” spacers 

(2) M8x40 SHCS bolts 

(2) 5/16 fender washers 
 

NOTE: When running side racks, the tail rack 

mounts to the inside of the side rack mounts. 


